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Py |:+:ns i +sind, j} + r]{cl:rs B, i +sind, j:l = ﬁ{msﬂiHsin By _f] + r_,{n::u-gﬂJ + 5ind, j]

¥y co8f, + 1y 056y = r cosh, + ry cosl,
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ry 0803 = r; cos b, +ry cosf, —r, cosh, By B3 SVoeme —
B Bi> g o8 b yaile, ¥ ol —
1 ; . 3 2 9 2P O,y ) Ul
rsind; =7 sinb, +r,sind, —r, sind,
r | u W
r=nler trg +2r,r_1(cusﬂ, cosf, +sinf, smﬂ,‘)

~2ny7;(cos6, cosf, +sing, sind, ) + 2ryr,(cosd, cosh, +sind, sin,)
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Acos8, +Bsinfy+C =0
where

B =2rrysinb, —2ryrysinb, h

SRR, o e ; .
C=n+nr +ry -n —Er,rz[cnsﬁl cosf, +sin#f, smﬂ_,_)J
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&0

sinf, =
a2l G (C~4)* +28r+(4+C)=0
2 >
1~ tanz(gi t=tan[i‘-J
2 2
cosfy =
I+tan2[§i Cosl e Clozr 90 50 45 0l oo 398 ¥ ax )0 alolae (slo 4ty
2 R
2B+ 4B ~4C-A)\C+4) _pioVF i1 d
= =
2(C - 4) C-4

‘o ==] is asign variable identifying the assembly mode
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-1
94 =2tan ¢ .J_;J:".go 9‘9_? 9& ),Q 45 Q)‘Q 09.?9 64 (5‘)-? h:—"j—? 5‘3

= s
1y cosfl +ry cosby —r, cosd,

S8 oy plaS 50 03 45 WS o ure (358 S 5 5 D0 Cedle &S el s
Dl oo oolaiwl atan2 b 1A col a8 )3

ATANl(sinﬂj. cos 8_,.] - tan']{ sin }
cost,
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o gty 415" Jsbo (355 olas 5 oS 353 a5

", sinf, -+ r;6,; siny = ryf, sinf,

»b, cost, +r cost =r,0,cosd,
8y and 6, 5 wole DYoo 0l 35,9 By ST 5b doles o
8, and B84 ;o5 le SYsem0 0nl 39y B3 51 38 Aol o
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Aol oo o OYolas oiws a4 05l 0 aduine g ax g8 OY ol S 4 S

3l sled g yle &ygo a4 e s SY0lse G‘BS 0

—-F‘J Sin 9_; ?‘4 Sill B" éJ’ - ?'MB-M Sil‘l HM
~r, cosf; r,cosd, |4, ry By cos 8y
M=2and.J=13 for 6,

M =3 and J = 2 for 8, as the input

) prle 59, a5 090 abatis jo  as Cao o g (o BS0l anlome lagl (sl agly e pu g

Fp=rh+K= (-rzf}z sin#, —-rjéj sin 6‘3)1' + (Jrz.‘f'-:'2 cosd, + r]é3 cos &, ) j

=R+ = {-rﬁ,, sin 84)i+ (qé‘ cosf, ) J
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fp=r+R=F+Tr,

L] . * 2 EE . . + 2 Eh ] r 1
1, sindy + ry0) cosb, + by sindy + nd; cosby = 8, sinf, + 03 cosf,

e _ 'I'J ' Lad L] 3 - L L] [ - &
ryth cosfly — s sinf, + 16, cosé, — 18 sin &y = ryfl; cosfy +ry0;sind,
fyand B;  as)le SVgeme il polas Sl 5 Sy 4 bgyje ez oo 5 B 5]

Gy and 0, 5l o5k SYseme il psles Gt g co s 4 by po Doz (olot 5 By 45 (235
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o] J:> J.alﬁ ts’l"""T d g 009 GL:'> 69‘9 oK
{-—rj sinf, r,sind, HBJ} "Mﬂm sinfy, + rMﬂM coS 9.,,, + rjﬂ_, cosf}‘J = r46‘4 00594

M =2 and.J=3 for 8, as the input
M =3 and J = 2 for 8, as the input

Pl 55, Jh 050 abadi s o LS (g (oo ol dvuloe bagsl (ol asly Sl (8
05.0.3 ML?DO ‘)

TR T < ‘3 g T ‘5 :
r.p = rz +r3 = “(?'291 sin 32 + F_;Bz EUSHZ +r153 sin ﬂ} +f38; ﬂ'ﬂﬂe} )l

- g . - -
+(rzﬂl cos#y —rb; sind, + rf, cosd, — 1'1931 sin @, ) j

. o - by 1 o v Ay
=n+rn= A{r;,ﬂ,t sin By +ry6; cosd, )f +(r;,ﬂ,, cosf, —r,;&f sinfl, )j

V8l
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Position Velocity
A=2rr,cost —2ryrycos8y, [—rjsinej rysin@, H&J}= {rw?” sin&M}
B =2nr,sinB, —2ryr,sind,, —rycos8y rycosty j|8s] |rb)y cosby

.2 2 2 2 ; g . . f . M
C—rl +rM +r4 —ry —zrlf'M(CDSGI COS&M +51ﬂ6151ﬂ6M) rQ = rz — rzaz(“mnazl +C0532j)

| -B+ayB -C?+ 4 |

= (—r4é4 sin&]f + (::,fh cosf, ) j

8y = 2tan 3 g=%I
C-4 Acceleration
9, =tan-!| A sinf, + rysinfly — ry, sinfy, [—rj sin@, rysing, HéJ } - {"Mé:y sinfy, + rMéf!, costy, + r_,é} cos@; ~ r40:§ cos 64}
Ik 1 cos@, +rycosfly —ry cosdy, ~#y costl; rycosé, {6, 130y €088,y = 1y, 0%, sinfy, — r,65 siné, + 1,0} sind,
rp=n=rn (cus B,i + sin 31]) p=hn= (—rzﬂz sin@, — 10, cosd, )l + (r292 cosf, —-ry0; sin -92)}

Fp = -(r4§4 sin@, + r,6 cos b, )r‘ + (r4§4 cos@, — b sin 8, ) j
rERtn=n (cosﬂzi + sinﬂzj) + .r,(cos Bqi + sinﬂ;})

=1 +ry =1 (cosfi +sinB,j) + r,(cosh,i +5ind, )

R=n= rl(cosalhsin ﬂ',j)
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r=ln=2rn=35r=4andf =0 < Spe e, ts
Syl Gty Jo V> SIS 2 6l 1) Brand By polis il
#,=10, w/2, w, and — 7/2
for8,=0

A=2rrycos) —2ryr cosh, =2(1)(4)-2(2)(4) =8
B=1nrysint =2nr,sing; =0
C=nl+r+ri-n —2r,rz(c{}sﬂ| cosf, +sinf, sinﬂ;) =11 4+2%+47 -3 57 -2(1)(2)=4.75

" =zm.l[-s+m}a‘ -+ A J

C-4

;
-0+ Jﬂ‘ -4.75" +(-8)
475+8

. = 2tan"'(0.5049) = 53.58°

=2tan’

-

P

- tan"[ rysinf, +r, sinB, — 1, sin 6,
3
7 cosf; + 1, cosby —r, cosd, |

_ lan_'[ 4sm(53.58°) ]= tan-'[lnm]" tan™'(2.3412) = 66.87°
L+ 4cos(53.58°) -2 1.3748
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8, o A B [ f, 8
0 1 -8 0 475 53.58° 66.87°
-1 - 53.58° - 66.87°
mf2 1 87 -16 8.75 177.28° - 143.85°
-1 55.86° 21.98°
" 1 24 0 12.75 -~ 122.09° - 75.62°
-1 122.09° 75.82°
~ /21 1 8 16 B.75 - 55 g5° -~ 21.98°
-1 - 177.28° 148.85°

Ferdowsi University of Mashad




] .
o 3550 Julons Vo

dlre g, = 0> Gl g, @, B, §, »B 8,=10rad/sand §, =0 & 5w »

RV PN
[-5 sin®), rsind, Héj} . {rzél sin &, }
-rycosf, rcosB, ||6 r8, cos &,
¥ [ -3.55in(66.87°) 4sin(53.58°):| {f}, _J2(10)sinfo)] [-3.2187 3.2187](8,] (o
~3.5c0s(66.87°) 4cos(53.58°) 94} B {2(10)(:05(0“)} 3 [-—1 3749 2.3743}{@,} 3 {20}
> 8;=20rad/s and 6, = 20.0 rad/s

-rsinf; r,siné, :I{ﬁ'j} - {:3.51 sinf, + ryf; cos 8, + 18] cosd, ~ r0; cos H‘]

-, €0 g i Al s T 2 .
|~rcos@y, rcosd, |8, 10, cosdy — n#; sind, — ] sinh, - r,f; sind,

[-3.2187 3.2137]{?,}2 0+2(10)" +3.5(20)" cos(66.87) - 4(20)" cos(53.58Y | [200.026s}
13749 23748J(6,] | 0-0-3.5(20) sin(66.87°) + a(20) sin( 53.58) | -0-0363}

mmm) G, = 147.5634 rad/s? and @, = 85.4150 rad/s?
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ts, &‘}, and 95 are known ol <Jl>

e =T+

e =7, +"ﬁ(fﬂSﬂﬁf+sin9,5j)

& =8+0.

o = By + 1585~ sin 0 + cos 6 )

i

-

Fe =¥y + 135 ~sin i +cosB ) — 1,62 (cos i +sin 6 j)
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el 00l 0018 5l alads g0 Silacw S8g :p90 >

-

o, 4
I T_Ei !:*l'

f; =tan

FB' _?:-'J

fy=-——t - %
resmfls s cosé,

g = Fy +785{—sinbsi + cosfy j) — r;02 (cosBsi +sino )

(s, 7 )+ rdd cost (i, =, J i sins,

b5 =- r
"‘5 sin ﬂj F's cOs Bs
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n=ln=2n=35rn=4andf =0 | E; s lis e, 8 Jle sl
s 0;=0,0;=10rcad/s, 6, =0,and o =1 -5l coy
B=tan"' G] = 26.565°
ry = AE =2.0/c0s(26.565°) = 2.236 cm
re, = rb, (—sin &, + cosd, j) + r5§3(—sin Ggi + cosly j)
B, =0, 6, = 66.87°, 6, = 10.0 rad/s, and 6, = 20.0 rad/s
8, =8, + B = 66.87° +26.565° = 93.435°

7e, =2(10)(0i + j)+2.236(20.0)(-sin(93.435°)i + cos(93.435°) )
=20 — 44.640f - 2.679 ] = ~44.64i +17.32 ] cm/s
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FE = .r‘:gz (-Einﬂlf " Cﬂsﬂ:."—) == ":E_E (EHSH.‘". hi Siﬂﬂ:j)

3

+rﬁ§3(-—sin 8. +cosh, )‘} - rﬁéj (cuﬁﬂﬁi’ + 510 Sﬁj)

f,=0,8,=66.87%, 8, = 10.0 rad/s, #, = 0 rad/s*, 8, = 20.0 rad’s, and 6, = 147.56 rad/s>

*
-

Fe =0-2(10) (i +0j) +2.236(147.56 ) - sin(93.435°)i + cos( 93.435°)]

~2.236(20.0) [cos(93.435°)i +sin(93.435°) j] = —475.76i - 912.56 j cm/s’
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rF:rz +r3 =!‘1 +P‘4
84 =31+'JT/2

r> 5in@; +rysinfy = r sin b, + rysinf,

X rcosfl, +rcosfly =rcosé, +r, cosf,

-

A5l 18 il &8 o e IS 50 il 358 Y oles
el 2l B1) o bl Ll S o uis Ty lo o5lsl a5 asles ax o5

ry, Fy, 1y, 0,, and 8, are constants  1f &, Is given, solve @, and r, in terms of #,
if 8 is given, solve &, and r, in terms of 8,
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S| $99)9 02 a5 Gdg &SJ—O.)J}?J ,n).u&o u.uﬁg.o J:>

03 91 oY gee
r; cosfy =1 cosé, +r, cos, —r, cosb,

rysinfy = r; sind, +ry;sinfy - r, sind,
=R +2r'1r4(cos @, cosf, +sinf, sin 64}

—Zr,r;{cos B, cos#, +sinf, sin 31)— 2!‘3!‘4(&‘{}3 6, cosf, +sinf, sin ﬂq)
A= 2:;(1::15 g, cosfl, +sinf, 5in54] -2 (cﬂs 8, cos®, +sinf, sin &1}

B= rf + rf - .rf - Zrzq(cnsﬁz costy +siné, sinﬂ,d

R+ Ar+B=0
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_—A+oV A -4B
2
o = %1 is a sign variable identifying the assembly mode

i
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r; can be complex {'.4_2 < 4B)

s Sz o6 o 523l5%0
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.0)91 Can ‘) 63 CWEWe) asl> SYolso )‘ Q‘ﬁ" < R Mbbo I"1 aS k5"99

1= — - = —

1 cos) +ry cosf, —r, cosd,

355 i ]y O3 Glilte 42U ol oo ALANZ &5 5l oolil L

Fp=r +r= rz(cnsﬂzi+sinﬂzj) + r,[cns @i + sinﬁ';f]
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Gl (533505 1) a5 28y Sid-oaija) pjilSe Condge J>

A Hsind; +rsinfy =nsind, +rysinf,
’ Pﬂ r, costl, +r; cosfly =n cosé, +r, cosh,
Q re;.;} // j r, alo 399 WYolas oIy Wi L
P // ‘\e
r 4 .
? 7 /2 \ AcosBy + Bsinf, +C =0
//

% r,

-7 \92 81 |

X
-

A ==2rr, cosb, - 2rr cosé,
B =-2rr,sinb, —2r,r,sind,

2wl 2T g3 : :
C=x +r; +r; -rf +2r,r4(cusﬂl cosf, +siné, sm94)
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A(l—r2)+3(2z)+c(l+r2) =0

t=tan[%2—] ‘ (C—A)IZ+ZBI+(A+C)=0

—23+aJ432 -4((:1—,4)((: +Aj  _BtaVB -C*+ 4

Z(C——A) = C-A

I ==

ﬂl — 2 tan o r
o= %] is a sign variable
identifying the assembly mode

e
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i'.u =f'1 +j'] =Jli +"'4
-rlﬂz Sil‘l ﬂ: - r;ﬂ, 3'in &3 = J':I cos HI
ry0; cos@, + r;0, cosf; =7 siné,

cosd, rysin@, |[A| [-ry8, sing,
sin 9l ~¥ l:ﬂse_; éf rHéH CQSEH

M =2 and J= 3 for link 2 as the input,
M =3 and J = 2 for link 3 as the input.

If r, is input,
then 6, and 65 will be unknown
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Fo=t +F=H+F S g o] p5le LS >
—r,0, sin @, —r,03 cos@, — ryf; sind; — 07 cosfy = 7 cosd,
r,0, cos8, —r,03 sin b, + B, cos b, —n04 sinfy = 7, sin

cosfy r,siné; {F, -r,.,o,, sinfy, — ryO}, cosf,, —r,07 cosd,
!illﬂ. =ry CUSGJ BJ r“ﬂu COSRM —rMGH smaﬂ—rjs.; 31119‘;

M =2 and J= 3 for link 2 as the input,
M =3 and J = 2 for link 3 as the input.

If 7, is input, then 8, and 8, will be unknown

-rysin@, —rsinb, 32 _ |nb; cost, + 1,63 cosfy + i; cosb,
r,cos8, rycosd, B, 1,05 sin8, + 1,63 sind; + 7 siné,
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f‘P = l-'z + l'."j = (-'rzéz Sin Bz — r3é3 sin 63)1 + (?’29‘2 COS 62 + r3é3 COS B})}'
FP "--"l'z + é = —{rzéz Siﬂez +r2é§ cnsgz +r3§3 Siﬂﬂ] + r,ﬂ.f CGSQ}}’
"‘(rzéz 00382 -rzézz Siﬂ 02 +fi53 COSB_} -rsé‘? Siﬂﬂ})f
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@ ., =1.0rad/sec

3

o 4= 0.0 rad/sec

Lo 350 Jloxs ¥ oo

Jol Ccwond ¥V Lad Jiluwo g Lo o

O s ¥V lagil ol arsly Sl g oo p Jdowi ) 5l oslasl L =)

I, = 1.035 cm
I, =2.0 cm
|3= T cm

l4 = 2.259¢cm
| 5=1.035 cm

velocity scale: 1em/sec = 2 cm

(\D/\/O%\I\—E

acceleration scale; 1em/sec 2_ 2 cm

lg (t)
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T, G,
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2l L8 5 slacl slal o Wb ol alasly as oo ool Lizs dOuble-rocker alee Jlo> 0308 o -V
Al o,y 1, (tracing point) e > s il asls el ol 90 CcOupler i

_ Connecting
Tracing link

point

d d

2a=1cm, h=0.5cm, 2d = 10 cm, and that the arms have equal length 7

cm.
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